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(3) Taritfern &1 feram sricer

(4) ST fHEM e

i gr gfera, fireer wivaret <61 e S
frguferd wnfta @ ?

(1) sfFmersh, TrEgr
(2) HeHIEST, FHe
(3) ra RRmfr, s
(4) Mivceast, TR

T FifreT 3 wme bt TetaT ot
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@) 1290 St & 1330 $&t T

" e freaehet 1 38 TE &
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(2) WY e AR b gd
3) fafean o wertanfet 1 wid

(4) el i g wid

qRRrE-uda’ % TR 8
(1) seE wgEE  (2) EH S
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Which of the following was the
movement of the Gurjars against the
reign of Bundi ?

(1) Peasants Movement of Bengu

(2) Peasants Movement of
Shekhavati

(3) Peasants Movement of Bijolia
(4) Peasants Movement of Dabra

Worshipped by Meera, one of idol of
Girdhar Gopal is situated in which
temple ?

(1) ShrinathJ i, Nathdwara

2) Madanmohan Ji, Karauli

(3) Jagat Shiromani, Amber

(4) Govind Deoji, Jaipur

The capital of King Bimbisar’s reign
was

(1) Girivraj (2) Vaishali

(3) Anga (4) Kaushal

The rule of Khilji dynasty was during
the following period :

(1) From 1290 A.D. upto 1320 A.D.
(2) From 1280 A.D. upto 1323 A.D.
(3) From 1270 A.D. upto 1310 A.D.
(4) From 1290 A.D. upto 1330 A.D.

The best example of Mauryan

sculpture is

(1) Stone bull of Rampurva

(2) Image of Vardhman Mahaveer of
Mathura

(3) Image of Crocodile ride of
Vidisha

(4) Sun idol of Koshambi

The writer of ‘Parishishtaparvan’ is
(1) Acharya Bhadrabahu

(2) Acharya Hemchandra

(3) Acharya Jinsen

(4) Acharya Gunbhadra
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12.

13.

The art of rock pillars with inscription
and animal figures of Ashoka Maurya
was influenced by

(1) Persia

(2) Greece

(3) China

(4) None of these

Who founded the Chola dynasty ?
(1) Vijayalaya (2) Adityal
(3) Parantaka I (4) Rajrajl

‘City of Temples’ is referred for
(1) Aihole (2) Pattadakal
(3) Manyakhet (4) Vengi

From where and by whom the medieval

Bhakti Movement originated ?

(1) By the saints of Northern India

(2) By the Alwars saints of Southern
India

(3) By the folk deities of Western
India

(4) None of these

Who was the

‘Mattabilasaprahasana’ ?

(1) Bharvi

(2) Mahendra Verman I

(3) Dandin

(4) Narsimha Verman I

Which of the following events not

occurred during Mopala Kand ?

(1) The British officers were killed.

(2) The railway tracks were destroyed.

(3) The Hindus were converted into
the Muslims by force.

(4) None of these

writer of

Who was not the leader of Deoband
Movement ?

(1) Rashid Ahmad Gangohi

(2) M. Qasim Nanautvi s
(3) M. Ul Hasan

(4) Sir Syed Ahmed Khan
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AT HHBIA AT
(1) wewg et
(2) wigwTg TR
(3) ITAREN Raerstt
(4) wiEwg o gres

e 919 ol e A @ e A
Afves wgrar & 2

(1) st Q) TR
() WmT(FE) (4) sef
g T o e e ad g8 2
(1) 1873t (2) 1860 St
(3) 1850 sw=ht (4) 1880 s&it
FrfiRaa # € e gm fofed
(1) WRA Y= 6T AT — 1962
(2) T ! gAT | IS — 1961
(3) WRA-UTh I — 1965
(4) T GuEar ~ 1968
-1 =t E-11 & gafea Hife qen
gt &% 2w 1w e @1 s =
Hﬁmgﬁq:
et-1 geit-11
(wedia =) ()
A. AE= faer i deTEET
B. AR HIRSEH i, IR
C. THIHART iii. ¥g® TS
- ImfEnr
D. "R fpfam=~  iv. s
GEE:

A B C D
() i i i iv
(2) iv i v ii
3 i i i v
@ il iv i i

14.

15.

16.

17.

18.

Alberuni was the contemporary of
(1) Mahmud Ghajnavi

(2) Mohammed Ghori

(3) Allauddin Khalji

(4) Mohammad Bin Tughlaq

Which of the following countries gave
military aid to Subhash Chandra
Bose ?

(1) Germany (2) Afganistan
(3) Russia (4) Italy

‘Singh Sabha’ was founded in the year
(1) 1873 A.D. (2) 1860 A.D.
(3) 1850 A.D. (4) 1880 A.D.

Mention the wrong match in the
followings :

(1) Attack on India by - 1962
China

(2) Freedom of Goa from — 1961
Portugese

(3) War between Indiaand - 1965
Pakistan
(4) Taskand Agreement — 1968

Match List-I with List-II and select the
correct answer using the code given
below :

List—1 List — II
(Mountain Peak) (Country)
A. Mt. Whitney - 1. Tanzania
B. Mt. Kosciurzko  ii. Argentina
C. Aconcagua iii. U.S.A.

D. Mt. Kilimanjaro
Codes :

A B C D
() 1 i i iv
2 iv i iv i
3 i i i v
4 i iv i i

iv. Australia
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20.

21.

22,

IUCN stands for
(1) International Union for
Conservation of Nature

(2) International United Conventlon
on Nature

(3) International United Co-operation
for Nations

(4) International Union for
Conserving Natural Environment

The busiest navigable river of the
world is

(1) Hwang-Ho (2) Seine
(3) Rhine (4) Loire

Match List-I with List-II and select the

correct answer using the code given

below :
List — I List - II
(Country) (Industrial
Region)
A. US.A. 1. Yorkshire
B. United ii. Pittsburgh
Kingdom
C. Japan iii. St. Petersburgh
D. Russia iv. Kinki
Codes : _
A B C D
() ii i v il
2y iv i i i
(3) iii iv i i
@ i i iv i

Which one of the following is the
correct sequence of ranges from south

‘to north ?

(1) Zanskar range, Pirpanjal range,
Karakoram range, Ladakh range

(2) Pirpanjal range, Ladakh range,
Zanskar range, Karakoram range

(3) Zanskar range,

Ladakh range,

Karakoram range, Pirpanjal range

(4) Pirpanjal range, Zanskar range,
Ladakh range, Karakoram range



23.

24.

25.

26.

S T ST Ted & ¢
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@) JgweE - g
(3) gREvs - e
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(1) Sefeen - SETE
Q) $2qE@ - HACH
(3) | - JfewW
(4) Tl — wfvEm s
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24.

25.

26.

Which is not a correct match ?

(State) (Shifting
Agriculture)
(1) Kerala — Ponam

(2) Andhra Pradesh — Podu
(3) Jharkhand — Khil
(4) Assam — Jhoom

Which one of the following is not
correctly matched ?

(Iron ore Mining (State)
Area)

(1) Bailadila — Chhattisgarh

(2) Kudremukh  — Karnataka

(3) Keonjhar — Odisha

(4) Naomundi — West Bengal

Which is not a correct match ?

Industry Location
(1) Alluminium —Korba
(2) Paper — Bhatinda

(3) Chemical Fertilizer — Talcher

(4) Ironand Steel — Salem

The North-South Corridor Highway
passes through the following cities :

(1) Ambala, Nagpur, Hyderabad,
Madurai

(2) Pathankot, Bhopal, Akola,
Mysore

(3) Jammu, Jabalpur, Nizamabad,
Ramnathpuram

(4) Ludhiana, Udaipur, Hubli,
Bengaluru
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(1) FERIor

(2) ITSifer gads
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Teft-1 11
(&) (ate)

A. Haaw i. SEAR

B. S99 ii. TS

C. e iii. NTEST-ATTA
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29.

30.

Which of the following passes are in
Aravalli. Select the answer using
codes given below :

A. Shivpur Ghat B. Jetwas
C. Debari D. Mukandara
Codes :

(1) A and B are correct.
(2) A, Band C are correct.
(3) A and C are correct.
(4) B, Cand D are correct.

The  Rajasthan  Forestry  and
Biodiversity Project (2011-2019) is
not related to which of the following ?
(1) Afforestation

(2) Livelihood promotion

(3) Biodiversity conservation

(4) Irrigation development

Match List-I with List-II and select the
correct answer from the codes given
below : :

List-1 List-11
(Rivers) (Dams)

A. Satlyj i. Bisalpur
B. Banas ii. Meja
C. Kothari iii. Bhakra-Nangal
D. Sukdi iv. Bankali
Codes :

A B C D
(H i i i v
2 i i i v
(3) iv il i i

@ i di v i

Which of the following match is
incorrect ?

(Mineral) (Major Mines)
(1) Lead-Zinc — Rajpura—

Dariba
(2) Iron-Ore — Dabla region
(3) Copper — Leelwani
(4) Rock Phosphate — Jhamar Kotda
(m |
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34,

35.

T 2011 ® ToeH F wF & fet |
Il Fol SEE # wattes Sfawd

o 3R TR SHEEIT R 7
(zmefror) ()
(1) SIei —~ FH
(2) Tt ~ S
(3) TG — S
(4) $RH —

gl SFenfa % wfawa (2011) <
Figa et 1 wd) STalie) A :

(1) SR, Sigars], ST, TAFTe
(2) SiEETeT, FRYY, SATHG, SR
(3) SieaTST, TATTE, IS, TR
(4) TG, IR, TATHTG, SETST

Jifem w9 ¥ urfiq gfaum W/ afags a9
& fopa Tewal 3 gemar oy ?
(1) 299 (2) 324
(3) 302 (4) 284

fifea # @ ®9 1953 ® Tifea T
QIS TN & T el 8 7

(1) Wwore 3Tt (2) werfy Hareaa
(3) TEAAGIE  (4) H.TH. GHFRT

1003 Gfya™ Geie @ g Ul &
TR ©

(1) ufvew sme, Brgu, weres

(2) ufeam e, fafewd, sem

(3) ufTam s, 3TaH, JTR

(4) ufvam s, Brgu, fafeea

31.

32.

33

34.

35.

Which districts of Rajasthan are
having highest percentage to rural and

urban population in their. total
population in 2011 ?
(Rural) (Urban)
(1) Barmer Ajmer
(2) Sirohi Jodhpur
(3) Pratapgarh Jaipur
(4) Dungarpur Kota

The correct sequence of districts
according to percentage of Schedule
Tribe population (2011) in descending
order is :

(1) Dungarpur, Banswara, Udaipur,

Pratapgarh

(2) Banswara, Dungarpur, Pratapgarh,
Udaipur,

(3) Banswara, Pratapgarh, Udaipur,
Dungarpur :

(4) Dungarpur, Udaipur, Pratapgarh,
Banswara

How many members of the

Constituent assembly appended their
signature to the Constitution as finally
passed ?

(1) 299 (2) 324

(3) 302 (4) 284

Who among the following was not a
member of States Reorganisation
Committee constituted in 1953 ?

(1) Fazal Ali

(2) Pattabhi Sitarammayya

(3) Hridaynath Kunzru

(4) K.M. Panikkar

The affected group of states from 100"
Constitutional Amendment is

(1) West Bengal, Tripura, Meghalaya
(2) West Bengal, Sikkim, Assam

(3) West Bengal, Assam, Manipur

(4) West Bengal, Tripura, Sikkim
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36.

37.

38.

ii

Which one of the following is not _
correctly matched regarding allocation
of seats in the council of states ?

(1) Assam - 07
(2) Kerala - 10
(3) Goa - 01

(4) Chhattisgarh — 05

Which of the following statements is
not correct about Lokayukta in
Rajasthan ?

(1) Investigation matter of corruption
but not maladministration.

Chief Minister is out of his
Purview.

He submits his annual report to
the Governor.

(@)
3
4

His recommendations are binding
to the Government.

Match the following and choose the
correct set of alternatives out of given
code :

Leader Political Party
Shyama Prasad A. Praja
Mukherjee Socialist

Party

ii. C.Rajgopalachari B. Bhartiya
Janasangh

ii. A.K. Gopalan C. Bhartiya
Swatantra
Party

iv. Acharya D. Communist

Narendra Dev Party of

India
(Marxist)

Code :

@ () 3i) @)

(1 A B C D

@ B C D A

3 B C A D

4 C B D A
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wRyM % Igwe-178 % AR,

frerEeT 3Teae BT 8
(1) Faifaa () "
3) =afa (4) e

fpg wutie v & grI wifsad
Ry ¥ faifia gew ya &
Tgafy & frafees vea # wffifea gy ?
(1) 704 Haunfaes gnga
(2) 694 gaenfes TNEa
(3) 549 Gerfaes TN
(@) 719 gt GsmeA

d ¥ Gfau % form e % Iiaia
TR e 3 fore mfafa 6 e TR
SR ?

(1) 3G 2433 T

(2) T 24399

(3) 3=DE 2439

(4) =BE 243

A % Higg™ hl AREd AT B
Hey freiferd § & fFw =05 @ 8 ?
(1) 2439 (2) 2439

(3) 2434 4) 2439

frifera # @ 1, Swue & foae ===
affa 1 ae T8 g ?

(1) et

2) T e & vt

(3) ¥= T o fomer & wan

(4) YR & g&F =i
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39.

40.

41.

42.

43.

According to Article-178 of the
Constitution, the speaker of the
legislative assembly is :

(1) elected
(3) choosen

(2) nominated

(4) appointed

By which Constitutional Amendment,
the elected members of Pondicherry
Legislative Assembly were included to
the electoral collage of the President of
India ?

(1) 70™ Constitutional Amendment
(2) 69" Constitutional Amendment
(3) 54" Constitutional Amendment
(4) 71% Constitutional Amendment

The committee for Metropolitan
planning is constituted under which
Article of the Constitution of India ?

(1) Article 243 ZE
(2) Article 243 ZF
(3) Article 243 ZG
(4) Article 243 ZH

Eleventh Schedule of the Constitution
of India is related to which of the
following Article ?

() 243G
(3) 2431

() 243H
@) 2437

Which of the following is not Member
of the Selection Committee for Lokpal ?

(D
@
3)

Prime Minister
Speaker of the lower house

Leader of the opposition of the
upper house

4) Chief Justice of India

01 (General Studies)
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I < Gfae & siaf d9g gro feay
gy Rl 2
(1) 1
@3) 3

2 2
(4) 4

TR T ANHRF HTEET F
g

(1) Tafaw fRs (2) Ted e
Q) WEsi  (4) S

HHE % TG T 39h! A3w! A wER
fhaa for sufen © w feet Tew
=1 T = Wit fomem s o 2 7
(1) 45 () 50

(3) 60 @) 70

frmiena wfgenstt @ i wra $ g
fratem s w2 2

(1) g o

(2) =it 9T

(3) fenm grefameefi

(4) =t AifEh frdy

W Tefihe : gl g 3R arech)
SHIHE gEdeh % oEH 3

(1) W SRR

(2) 31ge higeft

(3) G hsrst

(4) e Raerrt

e & rfirmyor =57 v wow e
T TSAITA T HfaTa: 2

(1) 3ftpr () vk

3) F (4) W
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45.

46.

47.

48.

49.

How many amendments in the
constitution of India were made by the
interim parliament ?

1) 1
3) 3

Q) 2
4) 4

Who authored the book ‘Working a
Democratic Constitution’ ?

(1) Granville Austin

(2) Robert Hardgrave

(3) Morris Jones

(4) Rajani Kothari

The house of parliament can declare
the seat vacant of the member in
question, if he absents himself for how
many days from all meetings of the
house ?
(1) 45
(3) 60

() 50
) 70

Who among the following women had
been Chief Election Commissioner of
India ?

(1) V.S.Rama Devi

(2) Jayanti Pattnayak

(3) Vibha Parthasarthi

(4) V. Mohini Giri

Who authored the book, “Rogue
Elephant : Harnessing the India’s
Unruly Democracy” ?

(1) Simon Denyer
(2) Atul Kohli .

(3) Sudipta Kaviraj
(4) Sunil Khilnani

To address and send messages to

Legislative Assembly is
Constitutionally Governor’s :

(1) Right (2) Power

(3) Function (4) Duty
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53.

afyum ¥ e 164 (1) % AR,

TR %1 eI 8t
(1) Tt (2) =at=a
(3) M 4) FaEw

fpg ad #, oy faum @ B $A
e & 9gTet 200 H TE ?

(1) 1967% () 1972

(3) 1977H (4) 1980

I A % Ew % ged |

fr=ifea wuEl W fem Hifv :

I = Uyl g g g/ § |

I 3@ 9g hH U9 T & TSIUTA gl
ESIESIGIES

. 98 3941 @IUd WRA & 4&d
=egfd H A | |

(1) Seer [ Iad g |

2) Sed [T T2 |

() Faat [ MEEE |

@) 1, Iwd M osf =&t 8 |

Srffiaa § @ W 91 e T H

R T ® ?

() o et + S Rt - g
r=apd)

(ii) STe =TeT + THR o AR B9 qUT

(iif) Trerea et — it wfwwEr + g
=)

(iv) STE TTeT — TBR & TSR 01 G
A

ﬂ%ﬁﬁ%ﬁﬁﬁvﬁmﬁﬁﬁ—

(1) e (i) @) @)@ (i) .

(3) had (iii) (4) (iii) 9T (iv)
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According to Article 164(1) of the
Constitution, the Chief Minister of
Rajasthan is :

(1) elected
(3) nominated

(2) selected
(4) appointed

In which year, the strength of
Rajasthan Legislative Assembly was
raised to 200 ?

(1) 1967
(3) 1977

2) 1972
(4) 1980

Consider the following statements

regarding High Court Judge :

I. He/She is appointed by the
President.

II. He/She is administered Oath of
office by the Governor of the
state.

I1I. He/She tenders his/her resignation

to the Chief Justice of India.
(1) Only I and II are correct.
@)
(3)
“4)

Which of the following defines Fiscal
deficit ?

(i) Revenue Receipt + Capital
Receipts — Total Expenditure.

(i) Budget deficit + Government’s
market borrowings and liabilities

(iii) Revenue Receipts — Capital
Receipts + Total Expenditure

Only II and III are correct.
Only I and III are correct.
I, IT and III all are correct

(iv) Budget deficit — Government’s
market borrowings and liabilities

Select the correct answer from the
codes given below :

(1) Only (i)
(3) Only (iii)

@) () and (ii)
(4) (iii) and (iv)

01 (General Studies)



54. SR TS T (@ A 3T SRR

59

56.

(1) Faftreh 3T — STETET

(2) e 3 — TIe

(3) Ui = + w=q

(4) TH HIREF I — W@ H AT
IYNPT 57 + §9q

e~ Aisa ¥ g 23 T e
it Searea I #, anfte gfig o e
4 & fpa w kw2 7

(1) #m-fe 6t Iig

(2) Trawr it dmra sceswar

(3) dSht <t Hmr= g

(4) Ea-3 I

W 1 afefia Hifv |

(1) €@ &9 X va | figd I
ST THTESH g & dgq S
% THR F quiHh & feg 3N
I APt vyt & faeg
TS TARY e F@ar 2 |
T EN A | g w fed d
=AY ST gl % qga S
¥ U Wl wfaufedt % Ty
% fovg, sfawmEe smum W,
AT B STENT TR |
3l 98 & @ R w e 9%
=AY THESH gl % 9 S
H TWHR & duidie » fee 3k
I Fgfen vl & faeg
HANRATTE FAM G Hear 2 |
Y1 98 =9 X R o w fiod d
AT TS gl % aga St
¥ 9 Wt gt % duifie
% foreg, Mawme amum w,
AT Bt ST H R |

(4) 3T A wis TE

2

€)
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S6.

Personal Disposable income is equal to
(1) Personal Income — Indirect taxes
(2) Personal Income — Direct taxes
(3) Consumption  Expenditure +
Savings
(4) Both Personal Income — Direct
taxes and Consumption
Expenditure + Savings

According to Harrod-Domar model,

Warranted Rate of Growth depends on

which of the following on given

incremental capital output ratio :

(1) Growth rate of labour force

(2) Marginal Productivity of
investment o

(3) Marginal efficiency of capital

(4) Saving-income ratio

Define ‘Repo Rate’.

(1) The interest rate at which the
Reserve Bank provides oVvernight
liquidity to banks against the
collateral of government and
other approved securities under
the liquidity adjustment facility.

The interest rate at which the
Reserve Bank absorbs liquidity,
on an overnight basis, from banks
against the collateral of eligible
government securities under the
liquidity adjustment facility.

@

Both the interest rate at which the
Reserve Bank provides overnight
liquidity to banks against the
collateral of government and
other approved securities under
the liquidity adjustment facility
and the interest rate at which the
Reserve Bank absorbs liquidity,
on an overnight basis, from banks
against the collateral of eligible
government securities under the
liquidity adjustment facility.

(4) None of these

€)
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Hin-s= whife & o v g ?

(1) wga 3t gl §ga HH TR H
FreT S 2 |

(2) wga A g1 9gd FH TEGHT T
it et 2 |

(3) T e H gl B

ORERIE |

af 2017-18 % GNH, FN W q
e # faw A, fFa R=m B wrd
R FrteE i 2 /7 N T w5
i T g &S HEET ?
1) 25 @) 30
@) 45 @) 55

Ffee foiwg o afdrdt whm =

TR ?

(1) TH.wE. 3. 8 Hl THAh I~EH
g

@) gg s % W-F &= #A
TSR ! I BT

(3) ¥ YR TEAH R HUIRES G
ar@ gfaen &1 fawr

@) R-weHi oy FEERes &
IERRIEL

fSrerfrfad 3 & i B B9 @ TS/

R e w1 fewan danstt St wwa
T e aftfar 3 ad 2016-17 & @t
ANTEH o T 80 Fferwrd @I ?

(1) forgr aen ST sew

(2) Trferpm qem man

(3) feeett aur wvehng

(4) TSI qT HERIY
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Demand Pull Inflation means
(1) Too many Goods chasing too less
money.
(2) Too much money chasing too less
goods.
(3)

(4)

Increase in the value of money

Increase in wages

During the year 2017-18, investment
in Agriculture Research and Education
Protected new agricultural innovations
by filling how many patents at Indian
Patent office ?

1) 25
(3) 45

2) 30
@) 55

What is the aim of Credit Linked
Capital Subsidy Scheme (CLCSS) ?

(1) Facilitating Technology
upgradation of the MSME sector

(2) Generating self-employment of

micro- enterprises in the non-farm

sector.

Collateral free credit facility
extended by eligible bending
institution.

€))

Q)

Funding to non-corporate small
business sector.

Which of the following State/UTs of
India are at the top with 80 percent
share of services GSVA (Gross State
Value Added) in year 2016-17 ?

(1) Bihar and Uttar Pradesh
(2) Sikkim and Goa

(3) Delhi and Chandigarh
(4) Gujarat and Maharashtra

01 (General Studies)
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62.
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64.

N 2018 #, THe Rkt Teehich 3 W
HIFTTAFR ?
(1) 127
(3) 129

2) 128
4 130

T N 377 USH SIS 1 Aftd it o g 2
(1) SR Rifya ot

(2) SUSTIR Afferg anf

(3) ITEIET & &% HIHIR

(4) EfeT &= % MR

frefafea 4 & afeen wife ¥ % g

Tqnaa g ?

() g fabr @ wfyen 8 @
Tl F0t g I 1 |

(i) #feen % w@wes gE %t Gwfa
T g I 7 |

(iii) 39 AT F Il 640 Rrem Hg
g1

A9 2 et g

(1) *ae (i) () (i) T (i)

() DTG (@) (i) (i)

T gy fym fefafes 8 @ feed

TEfRa 2

(i) WA

(if) 3frwefrr Rl A St @ seE

(iii) &g 6 Gt

(iv) Sifew @re

(v) i a4 H wafe amr § sraeh
| ST AT YA HTAT

et o 52t @ e swafR

(1) @i (2) (@), (ii) 9 (iii)

G) ()TAT(Gv)  (4) (i) TAT (v)
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What is the Rank of India in Human
Development Index in year 2018 ?

(1) 127 ) 128
(3) 129 4) 130

What is the targeted section of Atal
Pension Scheme in India ?

(1) Unemployed Educated Section
(2) Unemployed Uneducated Section
(3) Unorganised Sector Workers

(4) Organised Sector Workers

Which of the following is true about
Mahila Shakti Kendra Scheme ?

(i) Launched for
development and to
Women’s issues

leadership
address

(ii) Launched to address women’s
health issues.

(iii) There are 640 district centres
under this scheme.

Choose the codes given below :
(1) Only (i) (2) (1) and (ii)
(3) (i) and (iii) (4) (ii) and (iii)

National Ayush Mission is related to
which of the following ?

(i) Animal Husbandry

(i1) Promoting Cultivation of

Medicinal plants
(1ii) Bamboo Cultivation
(iv) Organic fertilizers
(v) Raw materials to Pharmacy sector
could easily be made available in
sufficient quantity
Choose the correct answer from the
codes below :
(1) (@) and (ii)
(3) (ii) and (iv)

) (i), (ii) and (iii)
(4) (ii) and (v)
u]
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66.

67.

68.

ffia RRIST g5 2 ?

(1) SRATEL, e, Sea, HTFR
(2) TSR, B2, IR, BT
(3) gL, HIT, AL, HTFTFFR
(@) HFR, ST, AR, TEH

T ER St Hif e S Hr g ?
(1) 8 31T, 2013 (2) 8 Iy, 2014
(3) 8§ IS, 2015 (4) 8 A, 2016

frerferfa & sreet e wY Regee

Td 3RS TABITE (3TA) ASHT 5
ged A aa R ?

(i) mmnﬂ:ﬁwwﬁaﬁmmﬁ
S, 2015 ¥ 3T H S |

(ii) T H et 30 TR ! T A
¥ st gafva frmn 2 |

(iii) sremmgfd, Tfetst i ALH TS,
et 6 = fage & el 98
FEL |

(1) e (i)

@) ()3 (i)

(3) (i) 3 (i)

4) (). (i) 3 (iii)

T el At § Ueh HeAThd &l THMTR
e 2duil % HeT T T B | 36 9
Tt wfafewal <l gear gift

(1) @ ) o=

(3) WNE (4) I
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Which four Agro Food Parks are

developed by RIICO ?

(1) Bornada, Kota, Alwar,
Shriganganagar

(2) Badmer, Kota, Alwar, Bikaner

(3) Jodhpur, Kota, Badmer,
Shriganganagar

(4) Bikaner, Bornada, Alwar, Badmer

When did ‘Rajasthan Solar Energy
Policy launch ?

(1) 8" October, 2013

(2) 8" October, 2014

(3) 8" October, 2015

(4) 8" October, 2016

Which of the following is true about
‘Atal Mission for Rejuvenation and
Urban Transformation’ (AMRUT) ?

(i) AMRUT was launched by
Hon’ble Prime Minister of India
in June, 2015.

(i) 30 cities in Rajasthan are selected
under AMRUT.

(iii) The sectors identified under this
mission are  water  supply,
sewerage & Septage, Drainage,
Urban Transport and Green
Spaces.

Choose the correct answer from the

codes given below :

(1) Oanly (1)

(2) (i) and (i1)

(3) (i) and (ii1)

(4) (1), (ii) and (ii1)

In an art gallery an artefact is placed
between two parallel plain mirrors.
The number of its images formed will
be : '
(1) Two

(3) Eleven

(2) Three
(4) Infinite

01 (General Studies)
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frafifaa § @ 9 ¥ 9 wEwtw
3k T g srfaiaa gfwramd aftifera
adt € : gumw, e, aTSieEsH,
FTSieRTur, AT
(1) ATEINH 56

() S=sh

(2) A =
(4) QB dEsh

AT el g1 Th 58 Traidh Tl
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(1) ITrR-gftqor femm

2) w&-ufvam e d
(3) efor-ufeam feam &
@) - femd

ool % fore s (SI) W @

1) S (2) A
(3) S (4) IR

PSLV 1 quf forar 8
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(2) diue &eeATge dAied shiehet
(3) TR AT Al SHihel
(4) SieRM AEATEE Ti-dl SEiehet

& g9 ol s d@ith w@ g @

PreafeRea i d a7
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Which of the following
biogeochemical cycles involve all of
the processes mentioned below :

Condensation, Melting, Transpiration,
Evaporation, Freezing

(1) Nitrogen cycle (2) Carbon cycle
(3) Watercycle (4) Sulphurcycle

A freely suspended bar magnet will
always rest in :

(1) North-South direction

(2) East-West direction

(3) South-West direction

(4) North-East direction

SI unit of force is :

(1) joule (2) newton
(3) pound (4) pascal
The full form of PSLV is :

(1) Public Satellite Launch Vehicle

(2) People Satellite Launch Vehicle

(3) Polar Satellite Launch Vehicle

(4) Production Satellite Launch Vehicle

Which of the following occurs when

we straighten our arm ?

(1) Both biceps and triceps contract
(2) Both biceps and triceps relax

(3) Biceps contract and triceps relax

(4) Triceps contract and biceps relax




74.

0

76.

17T

78.

9.

80.

3 @ Aw St afifea 0 @ gt &
e 1 AT 99 frwrd sAweh €, 8
(A) T

(B) HET-SBATEES

(C) 3TistH
(D) 3Tt
(1) (AT (B)
() B)W (D)

2) (AT (C)
4 (A)w (D)

ara # 3fafe famm srisdal & fem
o fore orier woieh 2

(1) HAL (2) ISRO

(3) BARC (4) ICARI

T SR T JHE F9 3 geiife
(1) TR | () 521

(3) HUER | (4) =Ee (gF) R |
YRd &% 99 &2 G Uhi § § uh S
T foefia s wr 8, R
(1) nfard () r@ard

(3) IO H (4) wgem |

T e SR g 2

(1) 10k (2) 102 H
(3) 108d s (4) 107 HfwH
HISShIETR TR T 51 ol Y3
Tievfie giveaw 2

(1) MSa8 () MS waE"

(3) MSUEWER  (4) MS TR

foreft JerTse 1 wom y wEemar 3
(1) &2 () BN
(3) =& @) I
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80.

The two gases which, taken together,
make up about 99 percent of earth’s
atmosphere are : :

(A) Nitrogen

(B) Carbon dioxide
(C) Ozone

(D) Oxygen

(I) (A)and (B)
(3) (B)and (D)

(2) (A)and (C)
(4) (A)and (D)

The Agency responsible for the

development of space science
programmes in India is

(1) HAL (2) ISRO

(3) BARC (4) ICARI

Flavr Savr is a genetically modified
(1) Tomato (2) Apple
(3) Cotton (4) Rice

One of India’s biggest solar parks is
being developed in Rajasthan at :

(1) Osian (2) Nokha
(3) Pokhran (4) Bhadla

One nanometer is equal to
(1) 107"%metres (2) 1079 metres
(3) 108 metres  (4) 107 metres

The most widely used spreadsheet
software of Microsoft Office suite is :

(1) MS Word (2) MS Access

(3) MS PowerPoint (4) MS Excel

The first page of any website is called
(1) Desktop (2) Home Page
(3) Web Page (4) Open Page

01 (General Studies)
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‘(1) Red worm

Which of the following are used for
vermicomposting ?

(2) Flat worm
(3) Round worm (4) Tape worm

Consider the following statements
regarding Paytm and select the correct
statements using the codes given below :

A. Paytm is a digital payment platform.

B. Paytm can be used to buy goods and
avail services online and offline.

C. Paytm is not yet approved by

Reserve Bank of India.
Codes :
(1) A,BandC (2) AandB
(3) AandC (4) Only A

Which of the following is a greatest
number :

765 4
8 7765

—

1y 2)

3) 4

<N ey v
o0 | |

From the given statements and
conclusion choose the correct option :
Statements : Some men are bald headed.
All bald headed are rich. -
Conclusion : I. Some men are rich.

II. Some rich are bald
headed.

All bald headed are
men.

All rich are bald
headed.

(1) OnlylandIII (2) OnlyIlandIV
(3) OnlylandIV (4) OnlylandIl

III1.

IV.



85.

86.

87.

HUT: 1. Hig Y G =S et T
Bt |

2. oft = w=l g R g
S Hr A |

HI3 @ GHR g A
TR IR R |

1. aff @t R g S
HI St E |

(1) haet s [ STET T @ |

(2) haet s 11 SEo T § |

(3) < & frsad [ e 11 SAgERe
2|

(4) 7 @ fswd 19 @ 11 S3FEor
2

e : L

o T Y QU v & fore e faepeg
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@7\? .

1) @
3) )
T A A W)
8, 24, 48, 80, 120,
(1) 180 (2) 168
(3) 200 (4) 208
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Statements : 1. No news is good

news.

2. All good news are
released by the

government.

Conclusions : 1. No news is released

by the government.

II. Al news are
released by
government.

(1) Only conclusion I follows.
(2) Only conclusion II follows.
(3) Both conclusions I and II follow.

(4) Neither
follows.

conclusion I nor II

In the adjoining figure, which of the
following fits best to compete it ?

i

M @
©) 4
Fill the gap :
8,24, 48, 80, 120,
(1) 180 (2) 168
(3) 200 4) 208
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frafafaa aoft & fe sl & Shaa
forepey o1 9 Sed gE Wi
__bc__ca

(1) abcbb
(3) cbbab

aba__c_ ca
(2) becbba
(4) bbabc

fret wmr & 3R “MINJUR® &1 %e
312547 3T ‘“TATA’ &1 R 6898 &
‘MADURAL’ T < F1 81T ?

(1) 3498178 (2) 3894871

(3) 3849781 (4) 3894781

WWWW:
24 144 384
6 36 ?
3 12 32
1 6 16
(1) 80 () 85
3) 91 4) 96
40 ot % wh fmor # qu i TR 6

I 4: 1% | 39 o 7 Ream o
Toreman S o6 qur o ot ST U 2 : 3
AR ?

(1) 20wt
(3) 40X

(2) 32X
4) 30¢fiX

TS MeHt Tk 3iNd A weEar & — “IEeht
Hrar, W AT % Fhed O gt R 7

et 39 3ika @ v uERa g 7
(1) W13 Q @
(3) Wi (4) |
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Choose the correct alternative to fill
the gaps of following series :

__bc__ca_ aba_c__ ca
(1) abcbb (2) becbba
(3) cbbab (4) bbabc

In a language ‘MINJUR’ is coded as
312547 and ‘TATA’ is coded as 6898.
How can ‘MADURATI’ be coded ?

(1) 3498178 (2) 3894871
(3) 3849781 (4) 3894781

Find the missing number :

24 144 384
6 36 ¢
2 212 32
1 6 16

(1) 80 Q) 85

3) 91 4) 96

In a mixture of 40 liters, the ratio of
milk and water is 4 : 1. How much water
be added to the mixture so that the ratio
of milk and water becomes 2 : 3 7

(1) 20 litres (2) 32 litres
(3) 40 litres (4) 30 litres

A man says to a woman — “Her mother
is daughter of only son of my maternal
grand-father”. How man is related
with woman ?
(1) Brother

(3) Nephew

(2) Son
(4) Maternal Uncle
[n]
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Ty 9t i ol SEes fEsisT % SHER
U %A & e fed ™ et @ sfea fm
1 T U :

d *e

?

N
NEDY

IR 3 H ged §E T, S 31 9
gofaa fafera gt 2, Tt 2
(1) 9981 () 9969
(3) 9982 (4) 9989

) 2

€) (4)

WY, e IR faaem § e 3fia
T

o () C%

3 (::) (::) “4)
-~ ©

TH W H a3 Afvest & we
AT 3 : 31 T AT | 6 B 3TN 22
s  gg § TR ™ W U™
1: 13 1 T@ 1 | T H B8 6
e SR oft -
1 21 '
(3) 217

Q) 17
4) 271
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94.

95.

96.

Choose the correct figure to complete
the adjoining figure as per its pattern :

d .o

(D 2)

N

N
PN

3) “4)

The greatest four digits number, which
is completely divisible by 31, is equal
to

(1) 9981
(3) 9982

(2) 9969
(4) 9989

Indicate the relation among black
board, classroom and school :

3) O O @
~ O

Ratio between officers and soldiers
was 3 : 31 in a city. 6 officers and 22
soldiers were killed in a war and ratio
became 1 : 13. Initially number of
officers was equal to

1) 21 2) 17

(3) 217 4) 271

01 (General Studies)



91,

98.

99.

100.

TS TR 1 3 991 & ford fopelt fifdaa =@
T TR ST 9 e e | Al 5@ 3%
Jferes =S Q€ W e g, dt ¥ 108
J1ferss =t fireran | Uiy s 8

(1) 900 (2) ¥1,200

(3) ¥1,500 4) 1,800

TH @ H 90% w1 grm, R
200%, 80 8

(1) 36 Q) 144
3) 72 (4) 108
fopeht o wrr o afe

“GOLD” =t “HOME”

“COME” %! “DONE”

Td “CORD” st “DOSE”

g Rfed fopam ST @Y, “SONS” &1 e
18T ?
(1) TPOT
(3) TOOT

(2) TOOS
(4) SOOT

%S o9 2 9N | Thglg oS 6 X
% 208 SN <A1 @ UG 9@ 49 2 9N A
HIYRYT &1 % 200 &1 7, A qAU 0

7
(1) 2500 2) 1250

(3) %2550 4) %1200
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97.

98.

99.

100.

An amount was put at simple interest
at a certain rate for 3 years. If it had
been put at 3% higher rate, it would
have fetched ¥ 108 more. The amount

is equal to
(1) 3900 (2) 1,200

(3) T 1,500 4) % 1,800

What is 90% of a number whose 200%
is 80 ?

)
3)

36 (2) 144

72 (4) 108

If “GOLD” is coded as “HOME”
“COME?” is coded as “DONE”
and “CORD?” is coded as “DOSE”,
then how “SONS” will be coded ?
(1) TPOT (2) TOOS

(3) TOOT (4) SOOT

On a certain sum of money the
compond interest for 2 years is ¥ 208

and simple interest is ¥ 200, Find the

sumni.
(1) %2,500 ) T 1250
(3) 2,550 4) %1200



101.

fear mar ar-fa 9w fafie= < A, B,
C 3R D i SHgE $il 937 e 9fy &R
ey ? 1A S B R S gL, e D H
S Y G A A aT a+y =38, 7@
A THTE

102,

103.

40
2%
E A B x 4
C D
R
(1) 18 2) 20
3) 36 4) 40

e arg-=rd we forameff gru wes whian
Tt g2 3Tkl ot guIiaT 8, 36 P 540
¥% T TR | a1 3@ fawy = @
o R o8 108 316 I HaT 2 |

(1) fosm
(3) 3

@) &=
(4) | 7=

a9 2019 ¥, F=fafaad # & 58 uem
forsqmor firem 2
(1) dFaTg
(3) P TRR

2) THeaT
(4) O BT
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101.

The following bar diagram shows the
birth rate per thousand of the
population of four different countries
A, B, C and D. If birth rate of country
B is twice to that of D and x + y = 38,
then, birth rate of A is

40

2x

Birth Rate

102.

103.

Country
(2) 20
4) 40

(1) 18
(3) 36

The following Pie-chart shows the
marks obtained by a student in an
examination, who scored 540 marks in
all. Find the subject in which student
got 108 marks.

English
63°

Social
Studics
72°

Hindi
60°

Science
759

(1) Science
(3) English

(2) Hindi
(4) Social Studies

In the year 2019, who among the
following received Padma Vibhushan ?
(1) Teejan Bai

(2) Prabhu Deva

(3) Kuldeep Nayar

(4) Bhupen Hazarika
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104.

105.

106.

107.

(1) safee

e B gAE 2019 HT GgEE S0
e o S T H fRa 8 -

(1) Tafesn
(3) TS

(2) STEUTEE SeH
@) fear=a

TSIEA Tehett e a1 1 e 12
S e, 2019 fa fem o g3

(1) 28\, 2019
(2) 304, 2019
(3) 2314, 2019
(4) 531, 2019

e 2§ I8 ol o w6 e %
A R e wled y® =W +
e 3 el -

(2) e A,

(3) THEHR (4) PIHHATE

ffafaa § @ form 91 7 feoeht & .
Fofite I W w = §®
315,06, UH. 6. d9e8 %9 | 10 Hiew wr
et firae gde # @l e Sfia ?

(1) & forg 3 il ami
(2) el S 3 o HER
(3) T WL 3TN |y =nerdt
(4) Hmr vt 37 T FAR
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104.

105.

106.

107.

The highest polling station of Lok
Sabha Election 2019 is in the state

(1) Sikkim

(2) Arunachal Pradesh
(3) Nagaland

(4) Himachal Pradesh

Class-12 board examination, 2019 of
Rajasthan Board of
Education ended on :

Secondary

(1) 28" March, 2019
(2) 30™ March, 2019
(3) 2™ April, 2019
4) 5™ April, 2019

Recently a decision has been taken
that Air India Crew after every inflight
announcement will now say :

(1) Jai Hind
(2) Vande Mataram
(3) Namaskar
(4) Shubhkamnayen

Which of the following pairs won gold
medals in the 10 m air pistal mixed
event at the ISSF World Cup -at Dr.
Karni Singh shooting range, Delhi ?

(1) Heena Sidhu and Abhishek Verma
(2) Apurvi Chandela and Deepak Kumar

(3) Manu Bhakar
Chaudhary

and Saurabh

(4) Seema Sharma and Ravi Kumar



108.

109.

110.

111.

112.

TR Wt s 1 3w, 2019 @
fpyme 3R seweee % S It
FATS BT &

(1) wrsfem
(3) MTR

(2) sfem
(4) TS

2019 <hi IR YEHR T oY
st fhew “difgs @ ws e
g=g" & ffaied ¥ ¥ fea e ®
Terenman ma o ?

(1) I& (2) HiEg

(3) feam 4) TS

for8 Wt femn # 319 50 It o 38
INTEH o FoTT O 2019 ST B31T 7
(1) gmAfeEt  (2) TN FAR
@) R (4) T A

TSR % T 7T § T g W IR
AR el 7S el R | g e R
i fRme -

(1) g ) FRE

(3) et (4) AR

Fi a1 forshe Raendt gt & # wed
ST T | I gIT R 7

() wwE gt (2) Ukawmt

3) st (4) ar ik
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108.

109.

110.

111.

112,

The airlines which started its service
between Kishangarh and Ahmedabad
on 1% April, 2019 is :

(1) Air India (2) Indigo

(3) Go Air (4) Spice Jet

In which of the following districts the
2019 short
documentary film “Period : End of

Oscar winning

Sentence” was filmed ?
(1) Churu
(3) Hisar

(2) Dholpur
(4) Hapur

Who received the Filmfare Award,
2019, for his/her 50 years of
outstanding contribution to Indian
cinema ?

(1) Hema Malini

(2) Manoj Kumar

(3) Shatrughan Sinha

(4) Waheeda Rehman

In a village of Rajasthan, people
celebrate Holi by hurling stones at
each other. This village lies in the
district

(1) Jodhpur
(3) Pali

(2) Dungarpur
(4) Alwar

Which of the cricketers recently joined
Bhartiya Janta Party ?

(1) M.S. Dhoni
(2) Rohit Sharma
(3) Virat Kohli
(4) Gautam Gambhir
01 (General Studies)



113.

114.

115.

116.

117.

118.

119.

TSI o Tfeet Toraer <6t foparit wmamd off 2

(1) 15 (2) 24

(3) 10 4) 32

SR & g AEehl § 8 A A TS
i feoeft & fopet goam & mmshuvT w1
AT a1 AT UST ?

(1) 3cafig (2) wrRE

(3) dacE (4) =1hRmaa
= 3 @ B o it it arifRe @
HERTO HeT gy a gt @ 7

(1) garys

(2) Grfta dmrar

(3) oAt

(4) e Aty

Hé%ﬁ:ﬁ&ﬁw,gaﬁwwﬁmﬁﬁ?
(1) @l Mo

(2) w1y HaRmeE

(3) e e

(4) THAIRET e

TSR & e <t ufspan # fepaam gr
& ?

(1) 13 o (2) g

(3) TEad 4) ®:ad
ToareT ¥ fRuq dtefet Afdmme & nfet o1
fmtor 1230 3. & wtam o

(1) “weaa (2) femeramg 3
(3) AU A (4) a3
TSl fRra 8

(1) 3w (2) 3Im

(3) T (4) WS
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113

114.

115.

116.

117.

118.

119.

. How many branches were there in
Guhil dynasty of Rajasthan ?
(1) 15 (2) 24
3) 10 4) 32

Which of the following Chauhan
Kings of Jalore did not face the attack
of any Sultan of Delhi ?

(1) Udai Singh (2) Kanhrdeo
(3) Viramdeo (4) Chachigdeo

Which of the following is not the

literary composition of music of Rana
Kumbha ?

(1) Sudha Prabandh
(2) Sangeet Meemansa
(3) Sangeet Raj

(4) Kala Nidhi

Who established Sarvahitkarini Sabha,
Churu ?

(1) Swami Gopaldas

(2) Sadhu Sitaramdas

(3) Harvilas Sharda

(4) Ram Narayan Chaudhary

How much time was spent during the

integration of Rajasthan ?
(1) Eight years (2) Twelve years

(3) Ten years (4) Six years

The temple of Tirthankar Neminath at
Delwara was built in 1230 A.D. by

(1) Bhimdeo (2) Vimal Shah
(3) Tejpal (4) Shobhandeo
Garhbithli is situated at

(1) Ajmer (2) Aamer

(3) Gajner (4) Mandore



120.

121.

122.

123.

Nare St 6 Rezeern w1 wolgn fo= &
JHHAAR ?

(1) 1628 - 1651 ¥eft, wgwwn
STATiE o SEHT § '
(2) 1652 - 1680 s&ft, wrwn TIRiE

ERItEEa R
(3) 1680 - 1698 $eft, wERTON SARME
ERREEa ke

4) 1698 - 1710 Feft, sfirg ot

& IR J

Tifaretr 6t AT 6l
(1) 7=
(3) ¥E wQE |

(2) HwfigH A
(4) wvETA

Tt TR STMeTE TH g1 AT
(1) 3T AT AT &

) foreite arar afg

(3) Pranfd

(4) arfeft wf=ed

TTTft 3 T (i) § TR A Aot
6 s falere % 3gER T
fafr 2 -

(1) WIEUE Yot AaHt
(2) VTEG o1 et
(3) 3y
(4) = PO Faft

124. Gl g9erE & famt ) ge @

(1) 29
(3) 23

) 36
@) 19
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120.

121.

122.

123.

124.

_cz)

Which of the following is called the
golden-age of Mewar-Style of
paintings ?

(1) 1628 — 1651 A.D. in the reign of
Maharana Jagat Singh.

1652 — 1680 A.D. in the reign of
Mabharana Raj Singh.

1680 — 1698 A.D. in the reign of
Maharana Jai Singh.

1698 — 1710 A.D. in the reign of
Amar Singh Second.

(€)

(C))

Raj Vilas was written by
(1) Maan (2) Karnidan
(3) Bhatt Sadashiv (4) Mandan

Barli stone ins‘cription was found in
(1) Temple of Amba Mata

(2) Temple of Bhilot Mata

(3) Temple of Shiva

(4) Temple of Savitri

The fair of Gogaji held in Goga Meri
(Nohar) falls in the month and date
according to Indian Calender is

(1) Bhadrapad Shukla Navmi
(2) Bhadrapad Krishna Navmi
(3) Chetra Shukla Navmi

(4) Chetra Krishna Navmi

How many rules are there in Jasnathi
Cult ?

1) 29
3) 23

2) 36
4 19
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125. 9N @ A @ 125. The meaning of ‘Neja’ is

(1) dTTsit <hT Tfex (1) Temple of Tejaji

(2) e T HE (2) Fair of Pabuji

(3) W Saarat % gt g ad- (3) Remedy of Snake-bite by the
9 T AT followers of folk-deities

(4) TR 6 e (4) Flag of Ramdeoji

126. HETHTCAH Al 7 waite g ufe 126. The paragana in which maximum
3t Tt et e g et T 3 : numbers of sun temples and statues are

(1) siearst 2) FRE ic;;mc]; in medieval Rez;z;sthDan is
answara ungarpur
(3) Tl @) R

(3) Dhawalpuri  (4) Sirohi

127. gfhar & 3 2 127. The meaning of Murkiyan is
. . (1) Ornament of ears
(1) T T ST (2) T T ST (2) Ornament of hands
(3) TGl T MYNYT (4) AT BT JTT (3) Ornament of feet

(4) Ornament of waist

128. TSR | ‘[ edl’ 1 WA AT | 128, The oldest temple of ‘terraneous style’

2 in Rajasthan is
(1) SR T ST Af=T (1) Brahma temple of Pushkar
(2) HaTSt WS AfRT (2) Jain temple of Sewari
(3) wTTe w1 Rra Af<y (3) Shiv temple of Bhangarh
(4) Sgan 1= af=x (4) Jain temple of Lodrava
129. wfeA e 3rrenTe a3 129. Tourist place Achalgarh is situated at
(1) R (2) eI H (1) Sirohi (2) Udaipur
(3) TeEH< | @) Reterd (3) Rajsamand  (4) Chittorgarh
130. TR ST 1 T&4 T 8 130. The main dance of Garasia tribe is
3) T @ (3) Valar (4) Rai
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131.

132.

133.

134.

135.

T 4 forg feeg & ot fRRiwor gx @
TE?

(1) SEle, s

(2) wHeH, T
(3) ¥gr, Tien
(4) GUAT, WS

fopr forebea o weg-gm o Srf - T R 2
(1) HAT-HAT = HEMT — I THTAT

(2) FE-Fd =T — &A1

3) F-Fr=den-a=

(4) 3ITI-30 =Y9-gad

fopar forepey o yrem watwar=h sg 7T € 2
(1) 3, dry

) =g, fay

3) =W, g

(4) 51, 91l

ST I YR ?

(1) 718 TR *ieha @ |

(2) &t & ferepat d@ss e 8 |
(3) AT TS &Nt JEYd Bl |
(4) TSH AW G AN@ R |

‘Licence’ 1 Gl f&dt rea 2
(1) gt

(2) 3=

(3) 3mem

(4) e

30

136

137.

138.

-139.

140.

fopa v w1 Ay -foRg adft i 2 7
(1) IRTE = IR + 37

) Teramerere = foeme + g
(3) SSHA =9 + A

(4) B = AV -+ QUM

forer wreg o It T AT AE g3 R 7
(1) A~H

(2) 3nyfrh

(3) IS

(4) IrraE

Frerfafiaa w=gi & @ form g & W
Ta-fE g 7

(1) g -~ Y= 1 gurEn

(2) IS - o7 31k i

(3) IAATAT - I3 Y 31

(4) <romarfer - <for B wifr 3 s

freafafaa & @ f5a og & seg o
T E g @ ?

(1) <hetHqH

(2) T&qH

(3) dieheH

(4) Y9

31 & for arer 1 feeprdes fopam @ 2
(1) T 3R 79 I FA 3N W@ |
(2) TH 3 vam 3R &y i dier |
(3) &9 3 uie b @ Reem |
(4) 0w 3R T T el I G gaw |
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141.

142.

143.

144,

145.

Translate the following into English :
73 ot ford) forafi 2

(1) Ihave to write a letter tomorrow.
(2) Tomorrow I will write letters.

(3) I shall be write a letter tomorrow.
(4) Letter is to be written tomorrow.

is a formal written offer or
bid to carry out a work or supply
goods at a stated price, time and
caution money.
(1) Demi Official letter
(2) Circular
(3) Notice
(4) Tender

I want to convert ancient
castle into awesome hotel.

Identify the correct pair of options to
fill in the blanks.

(1) this, an

(2) these, a

(3) too much, too many
(4) all, those

Identify the synonym of the word
‘generous’.

(1) malignancy
(3) magadiite

(2) magnanimous
(4) magnificent

Read the lines given below and answer

the questions :

“June 5" is celebrated as World

Environment Day to spread public

awareness all over the World towards

environment safety and cleanliness.”

June 5" is celebrated as. Environment

Day not to :

(1) help environment

(2) create awareness

(3) maintain the originality of our
environment.

(4) spoil the safety and cleanliness of
our environment.

146.

147.

148.

149.

150.

Fill in the correct tense form from the
options given.
you anything
tomorrow ?
(1) Be,do

(3) Were, doing

(2) Is, done
(4) Are, doing

Choose the grammatically correct
sentence from the options given.

(1) No sooner we reached the
examination hall the bell rang.

(2) No sooner did we reach the
examination hall the bell rang.

(3) No sooner did we reach the
examination hall than the bell rang.

(4) No sooner did we reach the
examination hall then the bell rang.

Who painted it ?

Change the voice :

(1) Who was it painted by ?
(2) Whom did it paint ?

(3) Who did painted it ?

(4) By whom did it paint ?

Change the narration :
Marry asked if she could stay with us,

(1) Mary asked should she stay with
you.

(2) Mary said, “Can I stay with you ?”

(3) “Should you stay with me ?” said
Mary.
(4) “Would you stay with Mary ?7”

I’'m not very clever cooking.

Fill in the blank with the appropriate
option.
(1) on
(3) by

@) at
@) in
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